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1. (a) The unit labour requirements of the production of cotton are 2 and 3 and for wheat is 4

and 5 for Lincolnland and Smithland, respectively. Labour in Lincolnland and Smithland
are taken to be 400 and 200 respectively. (i) If labour is the only factor of production and
the tastes and preferences of the consumers in both countries are alike and is captured by
U(C, W)=W*3C'3| find the relative equilibrium price? Discuss as to whether there is
complete specialisation at this relative price? (ii) Assume that the relative equilibrium price
of cotton to wheat in the world economy is 4/5, what amount of wheat would each of the

countries produce?
fRipeig auT fRrudc & foT U & IuTe & T SHTS 4 SIS AT HH: 2 94T 3 T
g & fog v 4 U1 5 § | Riwide aur Ryyee & 45 &1 HU=M: 400 TUT 500 foram S §

| () Tf 9 IUTE BT Had TP HIYF € dUT i1 SN & forg SUHNTET HT1 3 aUT Wig
[T & 94T U(C, W)=W4/5C1/5 GRITSHST AT ] , ATUfee Tqferd siud gra &% ? faa==
o 6 T 39 Anifere stva wR gt faflkrfieor @ 2 (i) 9 % fay srdferawr & surg
9 g & wmifére dgfa $iaa 4/5 § 9 A 20 gR1 g & fbat wren Sanfia st ?



(b) Ilustrate and explain with the help of diagrams that under the assumption of different
marginal costs, under a monopolistic competition framework there would be winners as

well as losers?

YTP B AgTdT A faa== v suren siford & fafis diwia anrtg & A=aar &
Jdifd , U UHIUBR UfaaRrdT S & Sidvid fasiar a1 3w givm 2

. (a) Indus and Sril are part of a customs union; and Bang is not part of it. The customs union
imposes an ad valorem tariff of 50% on bicycles imported from outside the customs union.
Let us assume the cost of production of bicycles in Indus, Sril and Bang are 100$, 90$ and
70$. How will the trade in bicycles change with Bang joining the customs union?

359 YT N TP B ZAa- $T IR § a1 9171 30T R 81 § | FeH g sy
g & 9T8R | AaTfad &1 715 AI3fdbd UR 50% &1 Yeaaitd & ot ¢ | 9 fs s,
sfier Tyt 9 A ATSfha BT IdTeH AR 100$,90$ YT 70$ & | ey g | qi1 Hi
Sie & H1Y ATgfhd & ouR § A gfad= gnm |

(b) The economy of Wildwest produces both cotton and wheat. It provides for an export
subsidy on cotton. Using a Standard Trade Model, assess the implications of the same on
relative prices.

fasaw o srdogawur HuTH auT I Bt ST Fdl € | I8 U W FHafa & fog ge it
T | UTHTIOT SATUR HiSH BT IUUINT Hd gU , ATAfée Fial W I & fAfgard geaifea
Fiford |

(c) For the production of one unit of cloth 1.5 units of yarn is required. The unit prices of
cloth and yarn without tariffs are 200 and 100 respectively. Following persistent pressures
on the government, the clothmakers were successful in getting a 10% tariff on the cloth
imports. What is the effective rate of protection of the cloth industry? How does the
effective rate of protection change when over the tariff on cloth, the government decides
on a tariff of 10% on yarn too?

PUST & Th IHIS & I & [T 1.5 IPHIS T B ATIAHAT & | UReP & 31 HUST
TYT AT Pt FHTS B I HHRT: 200 IUT 100 § | WPR R FAufifad amar gama & arace
, PUST IUTGH HUST 3ATATd W 10% UR[eP U H 6hd I8 & | UST SUNT & GG &
YHTIYU! a3 T § ? W&V BT YUTAId o2 9 ufkafdd i oiF HUST UR UR[eH AfU® g

IRPR I R Ut 10% T ULewd o1 fAoig Hed1 8 |



3. (a) In the 1920s, the economy of Bharat witnessed a steep increase in the relative price of
agricultural goods against cloth. Assuming that agricultural goods are produced using
labour and land; and, cloth using capital and labour; assess the income distribution
implications of the same with help of diagrams. Assume that labour is freely mobile across

sectors.

1920s H , YRA B SrfcuawyT HUST & goH1ad HiY aegsi & Arifée Siaal d TP dieon
gfS &1 yarfora farar wan | T b FiY avg, YT 9T 49 &1 ST HRd §U UG HUST, Ueit
TUT 47 BT IUGNT P34 ¢ AN Pl 8 ATP BT IUUNT & HIY JTHH & g
3 faazur fAfgard geuifea S’ | ar f5 99 I & SR w@add U A
Tfa=ia @ |

(b) The economy of Pearsonland produces two goods shirts (S) and pens (P) with factors
of production labour (L) and capital (K). S is labour-intensive in comparison to P. Explain
with algebra, as to what would be the impact of an increase in the supply of labour on the

composition of output of the economy, assuming that the relative factor and commodity

prices remain the same.

YTdie B srdfeaawT 9 (L) a7 USh(K) SWIGH & $RS & A1 g g HHIS (S) auT 99
(P) ST § 1 S ,P Ft ga-T & 97 7151 § | TIedTaT & A1 fad== 33 o srdfarawin & Seare
& TART R 948 & gff A gfcs &1 vuma w1 g, | foh arifée | auT avg diud (R
g

4. (a) In India, why do you think there is a significant agglomeration of IT firms in Bengaluru
(Bangalore)? Explain in the context of concept of industrial districts.
YR ®, 377 T4 Trad & fr FaR & T v &1 ggayul 94g & ? et forar & sruron
& HeW # fadaa o3 |
(b) Suppose the indices of intra-industry trade for two industries of a country, inorganic
chemicals and footwear, are 0.97 and 0.10 respectively. Interpret the same.
T {5 T ST & ) SYANN SrPTaf-1p THTA a7 o & e SiaR-Ie i & Jadid HH:
0.97 94T 0.10 & | SHF & fore TN FIe |



(c) Following a permanent monetary expansion, discuss as to why there is an overshooting

of the exchange rate over its long-run equilibrium value with the help of a DD-AA diagram.
RIT Hifge faaR $T SR w34 g, faawa 3 f& & DD-AA 1% & Jeraar A 9P
SrfeTel| Igaq Ted & SR A7 &1 o2 d8a 9 Rea wanr g |

. (a) Under a Bretton Woods type fixed exchange rate regime, the economy of Solovia is
currently under both internal and external balance. Some of the larger economies in the
world are under a spell of deflation. To what zone of discomfort does Solovia move to?
How can it get back to simultaneous equilibrium in internal and external balance? Discuss
with a diagram.

(b) The economy of Argentum is witnessing a sudden deterioration in the current account,
but its government in co-operation with the Central Bank tries to defend the peg of its
currency, argent to dollar (a/$) at 20 a/$. The market speculates that the peg is unsustainable
and the rate would crash to 25 a/$. Discuss the trajectory of interest rates, money supply,

forex reserves and exchange rate in its path to final devaluation with the help of a diagram.

5. (a) WreNfaAT Y ardegavyn, e g0 PR RAfawy T veafa & aga, adae
# AaR® AR aEd Sl dgaa A ¥ frg A Fo @t srdeyarae sqehifa
gk ¥ R W § AR 3mRw § FE a9 F 3w @ B T
Irfegaer Hal®F AR T Ao H U WY W F T F bl 87
TF NG F W 9T F

(b) 3STEH Irefcaaear & 1o @Y H =S PREe & o1 @ § AT WER
Yoo dF & AT FEAWT ¥ Il FaT Irefe (a) A STeR (o/) F W 20 a/s H
F T T @ F PV FI@ 8, S $ 81 TR AT domar g F g
IR ¥ 3R 77 & 25 o8 @l 3w #r Age ¥ ifaA EHEEs & wRA A
TS &, et i rqfet, RAef a7em sizw sk Rfwy T F waiveE w =t W



6. (a) The sterilised sales of foreign assets need not result in the exchange rate remaining
intact always. Explain the condition under which the exchange rate changes with the help
of a diagram?

(b) The open economy of Hamlet is in a liquidity trap. With the help of a DD-AA diagram
explain as to why a temporary increase in monetary policy would not work towards
increasing the level of its output? What steps could help the economy increase the level of

output under these circumstances?

(a) el aRTafeAT i Astelwa i & aRvmFTawT RfAAET T g TR
AT Tl ¥ IR@ H WA F I7 Uy @AW Gwd ded Raww @ A
aRader grar 82

(b) gFeIT HT Gelt Irdfegawyr oF aadr e H ¢ N-vT ING A A ¥
Fase fF Altw AifT & e gefer s9F scueeT F TR A R i R
A FH FAT AT HM0 37 IREATAAT & rdfeaaedqr & 3cued F TAT 1 ge+
# FI & FgH Aqg I FH §?



